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41q: what is the function of sertoli cells ?
 
a. testosterone secretion
b. progesterone secretion
c. aid in spermatogenesis
d. seminal fluid secretion
 
answer: c . aid in spermatogenesis .
 
42q: organelle that plays a pivotal role in apoptosis ?
 
a. cytoplasm
b. mitochondria
c. golgi complex
d. nucleus
 
answer: b . mitochondria .
 
43q: scarring alopecia is caused by ?
 
a. lichen planus
b. alopecia areata
c. androgenic
d. tinea capitis
 
answer: a . lichen planus .
 
44q: anatomical snuff box contains ?
 
a. radial artery
b. ulnar artery
c. brachial artery
d. interosseus artery 
 
answer: a . radial artery .
 
45q: a good paravertebral block given by an anaesthetist can go to all except ?
 
a. epidural space
b. subarachnoid space
c. paravertebral space
d. intercostal space
 
answer: b . subarachnoid space .
 
46q: IMCI includes all except ?
 
a. TB
b. Malaria
c. Respiratory infections
d. Diarrhea
 
Answer: a . TB . 
 
47q: maximum transmission of HIV occurs through ?
 
a. blood transfusion
b. homosexual
c. heterosexual
d. needle prick
 
answer: a . blood transfusion .
 
48q: HIV enters via ?
 
a. CD 4
b. CD 5
c. CD 6
d. CD 56
 
Answer: a . CD 4 .
 
49q: trotter’s triad includes all except ?
 
a. deafness
b. palatal palsy
c. trigeminal neuralgia
d. seizures
 
answer: d . seizures .
 
50q: C wave in JVP is due to ?
 
a. atrial contraction
b. right atrial filling
c. rapid ventricular filling
d. tricuspid valve bulging into right atrium
 
answer: d . tricuspid valve bulging into right atrium .
